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1. TEo0 SR S1rEr 30T “I stand” a1 Afveafad=n G&hd Fosvamrs fees fFag g . fFamer
FIVATE! 3TIEE &l 3T Haa feosem atfirsafagaa smaR o oo Fam amm,

IRTEM : palo ko = 1sit, palo tu = she sits; 310 karo tu = she stands
(1) tuko (2) ko karo (3) karo ko (4) karo palo

Study examples and use rules following for selecting code for expression “I stand”: there are
no exceptions to the rule and only those rules apply that may be derived from the provided
expressions.

Examples : palo ko = I sit, palo tu = she sits; and karo tu = she stands
(1) tuko (2) ko karo (3) karo ko (4) karo palo

2. w faum sufn R shuiftd freed st enfn Frapaf @ 9ol o watg e -
THE! SEH Ao .
Td Troh HAFHR A
frerd ;. () *E SEF FAFER SR
(1) §d FHAHR ToF TR
() U=hE] <ok SEH R

gt ST
(1) WK (1) FHETT (2) = (I1) F (I11) FhET
(3) W (1) F (IM]) THHTT (4) UHE THETT &

Study the true statements and conclusions based on these and select the option that describes
conclusions correctly :

Statements :  Most architects are writers,
No writer is a driver.
All drivers are architects.
Conclusions : () Some writers are architects.
(II)  All architects are drivers.
(1) No driver is a writer.
Answer Options :
(1)  Only (I) follow (2)  Only (I) and (III) follows
(3)  Only (I) and (1II) follows (4) None of these

FHHT H/IHETS FRT/SPACE FOR ROUGH WORK
P.T.O.
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(1) Fem FihT SO WX HeAThTe! 6,30 R =8l WRed s T3 39 o e, Tere
T e FIH ST Hhd AR, U 379 HeATwis 6,30 R FHiwt WS 9% w9
7.

(2) dafew aefkarl ko MER TRH 9= U Fa™ERe SR TR e swe @,
fen fae o fooaht FRE0 ame YEie @R s fa®E ond RH o 96 X HE I
7.

(3) SISO oo NETA ATE]. AT AFHHIAAE FD 9 ISH IRd WA IS d6l ATTSUR TE.

(4) WFEE Ted W9 SISEIet Gud g . ast =Rl S A FeUE ot 99 Srarer
WU I3,

Study the reasoning process of the argument given below and select from option that most
closely resembles the reasoning used in it

Anju cannol afford to go for watching a movie. Buying tickets for enjoying drama is even
more expensive, thus she cannot afford that either.

(1) Since tea contains caffeine Anju cannot sleep at night if she drinks a cup of tea after
6.30 pm. Coffee also contains more caffeine if compared to tea so Anju would not
drink that after 6.30 pm either.

(2)  Anju didn’t have enough patience to complete the story book that her father gave for
her birthday. The novel that her mother gave to her also requires more patience so she
would not finish it either.

{(3) Anju does not like banana. This ice-cream contains banana and almonds, so Anju
would not like it either.

(4) Itis too far for Anju to walk to the garden. The beach is closer, so she will prefer to go
there instead.

4. g ATEe UEE HEA <A U Tl U, ¢ Tl e geio § AR STSis e Thed U
o 3R, <1 Tt aAifeeil Ad +d?

(1) % (2) o (3) & 4) goit

Introducing Aadit to her husband, women said, “His brother’s father is the only son of my
grandfather.” The women is related to Aadit is :

(1) Aunt {2) Mother (3) Sister (4) Daughter

T TS S/ SPACE FOR ROUGH WORK
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5. Tradet misdaaesm=a 500 Wi SAvaTEE! Sues ST fhadi=a SF @A SUSH dRd. of
I T sroamT oY
X: HEhE f9uR {1 st e misdesst 99 fEaa foemm 3w,
Y: oo Hived Sou fhan faamm e T v Afedrasesrare! <X vaden s fhaa
foramag =,

(1) 200 MfgdtaswE= St fhoa T s fe SRy e,
(2) X T AEA < miediasshrEt fdhma afin Y 1o sTeE geemrdl fha.
(3) X T 9EA 1 Wisaiaserr= fHwa anfon Y =1 soea 2 wifedt v fama.

(4) TYGH STHOTA! X T Y @ A€ BUEHE! 99 fRudiet dg% aueed Wiediasie
HeE&.

There are two price structures available to choose printing 500 copies of brochure as given
below :

X An equal cost for each brochure without considering number.
Y: An initial fixed cost followed by a lower cost than structure “X’ for each brochure.

Select one of the following set of information that would be sufficient to decide least expensive
price structure from the mentioned above.

(1) An example showing cost of 200 brochures by using both the cost structures.
(2)  The cost per brochure using structure X and initial cost using structure Y.
(3) The cost of 1 brochure using structure X and 2 brochures using structure Y.

(4) The number of brochures for which total bill will be same by both available structures
Xand Y.

6. U THAYT HIE] el YA H@ Ied. 6 w40 g |, 15 o451 et Sead i 6 s
ST ISR, T hTel sual SealEoedl S 9T Sledd. SR Tete 21 o 3 Wiy
Serd SEdle AN T saadl A T Siod 970 9t o saae fondt e s ?

(1) 21 (2) 23 (3) 22 (4) 24

Same persons are travelling in a bus. 6 persons are Tamil speakers, 15 are Hindi speakers and
& are Gujarati speakers. Some persons speak any other language mentioned here. If two

persons speak two languages and one person speaks three languages then how many
travellers are in a bus ?

(1) 21 (2) 23 (3) 22 4) 24
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7. SRS G TH ST THSS UG X ASNTH) A=AEE HE TIRIH FE T o
Sl I3 Bk 1Y V. WX S TeH TEeniiadt T 6 99T SEdie a1 ST T I B A,
TRrem T} Stegt W B AW deat A SreAtiaeer fRmvemiest gen o fewa sty sSrevarn de
IS B4

T glarang gaeel FOOM Fatias 4 faum e

(1) 2SN SN 3 e it ST S A

() TRERTE gRReTHER S woe ad ool et waly san o,
(3) 3 Faat Fr 7 T Sue FY FE o} o gee faaied 3.

(4) AR A TR N qHU FA T BOTEHIG] ST 3,

If children are sitting in rows in a classroom, the teacher can have eye contact with all of
them while she is explaining something to them. This is not always possible if they are sitting
in groups around tables. Also, when they look up, instead of seeing the teacher they see the
child opposite in a group and being tempted to talk. So, sitting in rows helps children to
concentrate better on their work and should therefore be the standard arrangement in every
school classroom.

Select the statement that would most weaken the above argument.

(1) Rows of desks take up no more classroom space than tables.

(2) Traditionalists argue that teaching the whole class in rows is best.

(3) Some children are easily distracted whether they sit in rows or in groups.

(4) Sitting in groups of between four and seven for constructing knowledge is essential.

HoeAT S AW/ SPACE FOR ROUGH WORK
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8. oNUe Tt umBeihgA ST fafay Hucy faseia /& drodt Sfam i wea.
A W T SE-WeI R Yo el FasmarEt gur <F erwen a8 wivdtEl S
FETqW HRae S food F1 FOW ARG 3 N e[, S Te0 9 U8 9 e I 9 e
H FS. FO F BUL I Hqq A G99 BH FO. BN d USS A SSi-pHr= e wild
THA FIH Fo0 TITH FrAd! wiad 91 = iat Sel sHarg= w6 Teieiet S S
Ze Taenedt feer -

(1) 3w FHITA 377 TerneAtertisn

(4) A9 Secifigeeard=t Hivie! forenel fraem v

Smt. Kavita wants her students to learn various skills from each other informally. Thus
though she allows everyone to choose her or his partner for pair-share work, she makes sure
that no pair will work together for more than four days continuously. Now Adal and Rahi
worked together for four days in a row and Kala and Hamid worked for three days
continuously. Kala and Adal worked together during last round of pair work and therefore
she does not want to pair them right now. Select the student that should work with Rahi at
present.

(1) With any other student not mentioned here
(2) Kala
(3) Hamid

{4) Ttis not possible to select student from those mentioned here

9. R TR AR o wEm anEw suad e st S fafire goi Yt wemd oie @
Weho T I FIOATIIST 15 oA o qoi=! g woarar st ten e

(1) 105 2) 91 (3) 76 4) 66
Select number of ways can three children can be selected to work on a project out of

15 children, if one particular child is always included and two particular children are always
excluded.

(1) 105 ) 91 @) 76 4) 66
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10. T2 W TEvaraEl fog onfin stoem i1 qete famier sl Haa gomet aar F.
() ATM THTeH YAF IFERSST T Il MO 7 d N 61 THHH ST S7a Sa1as oy
ABE@ Z, B LS Y, 38 FHM €50 N 9 7 o1 auieriiast A 3 M goiaR ST/t oy N
T A, O T B, o1 HAA B,
(b) WFA (a) TYF (HzOeT Tl STHUUTST 98 FUiE 3T HAF TS 7 Wi el
3t %Y 49 a1, U A €8S 26, B €50 25, X B0 03 39 wHH W,
I JurTeter. ATHINE LUKEWARM A1 ¥iseTen Hohd et -

TRt 3T
(1) 1221110523151813 (2)  1219110517012213
(3)  1221110517012213 (4) 1219110517012613

To keep their messages secret Jitu and Alex [ormulated a coding system that is based on
[ollowing operations :
(a) Replace each letter from A to M by its number wise equivalent with the alphabets
reversed from Z to N; so A becomes Z, B becomes Y and continued and alphabets from
N lo Z are replaced by alphabets from A to M; so N becomes A, O becomes B and
continue.
(b) Replace each letter resulting from operation (a) by a two digit number according to its
place in all alphabets arranged in reversed order; so A becomes 26, B becomes 25,
X becomes 03 and so on.
Select the coded form of the word LUKEWARM according to this system.
Answer options :
(1) 1221110523151813 (2) 1219110517012213
(3) 1221110517012213 (4) 1219110517012613
11. A, C E G @nfor 1 € = 7@ gremisli fafie awmqs sy Srecet omen,  mifed o1y wn
g HidTe g A e
AT CH E IR F I AEowl AR, E 9G¥ TE 99 9 912 FiHl e oRd. CH 18 T
T SO G SHEoa S8 TIaE He Q! 9184 9 TEERIiAl il 34, A 9 E 8 T S
A1 Seodl oA E 4 1 3 T S0 7 wor seod 3TRd.
(1) Homers! SEqe= W[ 950 I Ha C Mamd G are s 3,
(2) S MEHIE A MEH 1 MEre Shad Se @ et feher et B et 4 <o e a4 A,
(3) T e 9 marel g2 e .
(4) TR WEAT 95 FA G TERA 1 e S 3.
A, C, L, G, and 1 are five villages that are connected with each other by various modes of
transport. Study the information and select the false statement with respect to it :
A and C are connected by boat and rail; E and G are connected by bus and boat; C and [ are
connected by overhead bridge that allows two wheelers and pedestrians only; A and E are
connected by boat only and E and I are connected by bus and rail.
(1) One can go from C to G without changing transport mode.
(2)  Villagers from A can't escape visiting E if he or she wants to go to L.
(3) Eis directly connected to 3 villages.
(4) Itis possible to go to 1 from G without changing transport mode.

FET HIHTEE ST/ SPACE FOR ROUGH WORK
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e ofieir A i faeridie deum waf sfad qu s g4t fFee

g SreE AR foraien AU HRAl o SR STV SEEa N, 9681 TR S gl
FTi o P Baiee SETS TN, SYOd ST € THHE 3V 19l STEE # S
T SN G e qedd gY wH yeIoTa Rt S suosy . T Wase Aufie
T SUTEUGTETE Wedrgd SUARE o oI GHEreT GHIfSen shriwHia S 9evm Svarst e

(1) e faurm 3eofaenon fou w8 dfaq 350 Ir ¢ o Rurn w59 AR,

(2)  UERRgH WA TR Sfea e STETRAATTS fodiT S S8 Gt
i =E O § Al TauE TR ST,

(3) =rEr ereifEd favm wt wAe fagrm #4 dfhaa Saam 4 auiF wian.

(@) o wwe YafiE i e w wE ke 1 A S e e s,

Read the following paragraph and select the most appropriate option which describes
relationship between underlined statements.

Even when demographic characteristics do not show anti-female bias or any at all, there are

other ways in which women get less than a square deal. Afghanistan may be the only

country in the world where the government is keen on actively excluding girls from schooling;
but there are many countries in Asia and Africa and also in Latin America, where girls have

far less opportunity for schooling than do boys. And there are other deficiencies in basic

facilities available to women, varying form encouragement to cultivate one's natural talents

to fair participation in social functions of the community.

(1)  2d statement explains of how womnen are deprived as mentioned in 15t statement.

(2}  Both the statements describe that women in Afghanistan face worst bias as they are
deprived of schooling by the government.

(3)  Both the underlined statements describe how women are deprived by some societies.

(4) Both the underlined statement describes how women are not allowed to develop their
natural talents.

HoeAT MR SR/ SPACE FOR ROUGH WORK
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13. AreArEnR fafay e ww geai Aieen ed. fraear Tt Tl Feom @ wivea geaten ow)
a1z, fenem Tt gt oo @ AT et e o, wiewan Teh gHl Feoan geten aer o
W T T e wives eaten SR T, @ mfedt v wr gEiete s/ fres et
3fua o fae -
(a) Tl gt v uie=n e AR TR,
(by  diE=an gEit=a s A G ST e AR
(c) SNvooal Gai=a1 I UM Bre faan ifiaf gei o yia S7R.

it 34y
(1) (a) TS e TR (2) R (b)
(3) ST (b) VI 38T W () VT T (4) w4 frend T oA

Seven different coloured chairs are placed before me. Yellow coloured chair is between blue
and violet chairs. Green coloured chair is between red and orange chairs. White chair is
next to blue chair but it is not next to red or violet chairs. Assuming given information to be
true select option that most appropriately describes conclusion/s from given below :

(@) Blue chair will be always next to white chair

(b} It is possible that orange chair will be next to white chair

{c) Itis possible that either red or orange chair will be next to violet chair
Answer options :

(1) None but (a) (2)  only (b)

(3) 1f (b) is possible than (c) is not possible (4)  All conclusions are correct

14, Tzamed foag sos foaaien 9d @ne 31dald. Tadie foaw fears! fRaaien gmes s, s 8l
31 faur 9 s1gdie ot e Toos uramiedt feagiien S &ies sra & faum

R,
(1) ¥eia ' (2) A= oTE™
(¢) T fFa s e @) Tafrga = 39 T

Winter days tend to be cloudier than summer days. Rainy day tend to be cloudier than
winter days. If these two sentences are true then the sentence, “summer days tend to be

cloudier than rainy days” is .

(1) always true (2) always false
(3) either true or false (4) cannot be decided

FHEAT FHWE! AW/ SPACE FOR ROUGH WORK
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15. T2 U9 faud S omed 3 wqe faftre wam &R faum swes wia foo sed. yeamr=an 39
o= snui famt faum & zond fred =@ o181 vl fae.

e :

(a) @ foha foen e faepfaa 9 sifyeas wemamard! faeor=n fafay J4f, giaw 9 @ma=mer
FAH G OThed Adedd 3199,

(b) TorEEgel Sefre T enfor s glaw wfeaer wren A e st +ue fawm
HIYTE W8Iy aw.

(c) 3= <XSKE UM S0 oyiad 1 yeeh safaae uEmqul fneror 9 sy gfeawn fieem,
(d) fas XER TEHE SO & DHN oEarg ANUE § g gy fresa 3@ 2yiEd A9

7T 3.

(e) =AfKITd e deeTa ¥ IS Segt AN Tl faen fafay wafaiqy eman sifysae soamrandt
[REEET ICEE e

At I

1) (9 () (@ 2) (0 (b), (e) (3) (@), (b), (o) @) (b), (e) (@)

Given below are five statements followed by options comprised of three statements in a specific
order. Choose the option where third statement is valid conclusion based on the preceding
two statements:

Statements :

(a) Personal fulfilment depends on various opportunities; facilities and freedom that
everyone gets to develop and express his or her capabilities.

(b)  Quality educational opportunities and health facilities assist persons to develop his or
her potentials optimally.

(c)  Higher national per capita income indicates that every person gets quality educational
and health facilities.

(d) It is a fact that higher national per capita income does not indicate that people get
quality educational and health facility.

(e) Personal fulfilment is possible when he or she has freedom to choose from various
alternatives to express capabilities,

Answer options :

(1) (o) (b), (a) (2)  (©) (b) () () (@), b) (e (4)  (b), (e), (a)

HTAT HIEMEIS AN/ SPACE FOR ROUGH WORK
P.T.O.
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16. WO Sog=al Tisa Gaiaa s Toiel 9y siieg) o

(i)

sftien T
() oY TS, HURY, TS
(i) WY, FUR, F7NE, [EE
(i) Yo, MY, HEHeE, Geares
(iv) ToTongR, e, deh, SrEE

Match the following districts with their respective religious places.

o
(@) EHITR
(b) 3fmanz
(c) SHEER
(@ TRE
qaiE I
@ (® (9
M @ G ()
2 () () (i)
(3) (i) @) (iv)
(4 (@) @v) ()
District
(a) Ahmednagar
(b) Aurangabad
(¢) Osmanabad
(d) Nanded
Answer options :
(@) (b} (o
1 @ @ (@)
2 v @ @
(3) () (i) (iv)
(@) (@) (v) ()

(i)

Religious places
(i Ter, Yedashi, Andur, Paranda
(i) Mahur, Kandhar, Hadgaon, Mukhed
(ifiy Paithan, Apegaon, Maismal, Khuldabad

(iv) Shingnapur, Madhi, Toke, Bodhegaon

A

HAT HRHHE AT/ SPACE FOR ROUGH WORK
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17. e o
e -1 w11
( Forewr) (W)
(@) oo (i) THETR
(b) TR () wrewd
() wEwm (iii) @R
(d) ==E (iv) TigHHUI
Tqidt I

@ ® () (@

Ay ) O 6) @)
@ ) 6 @) G@
3 (v @ @) )
@ () G () G
Match the following :
Column - [ Column - 11
(District) (Lake)
(a) Buldhana (i Ramsagar
(b) Nagpur (@) Ghodzri
(c) Bhandara (iii) Lonar
(d) Chandrapur (iv) Bandalkasa
Answer options :
(@ () () (d)
(1) (@) @ @@ @)
@) @) @ (v) (@
(3 (v) @) @) @
@) O @) @Gv) (i)

18, WA __ A< IURET IR |
(1) Fom @ ¢ e @
Yerala is a tributary of river.

(1) Krishna (2) Bhima (3) Godavari (4) Tapi

19. TRNEMG WSO W9 S&UHgd INHs HIUd hH SUaT 377 7
(1) R, I, a1, BT (2) HIEl, 3Te, HIE, TR
(3) FW, wiEl, TR, I (4) 3T, W, WIS, TS
Which of the following sequences of Ghats in Maharashtra from South to North is correct ?

(1) Bor, Kumbharli, Amba, Fonda (2) Fonda, Amba, Kumbharli, Bor
(3) Kumbharli, Fonda, Bor, Amba (4) Amba, Bor, Fonda, Kumbharli

FHoAT HUEE! JET/SPACE FOR ROUGH WORK PT.O
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20.

21,

14 A
74° I8 {EETE RERTSTIS il SWeed 2fiues wH fHasl -
(a) fre (by (c) Tdsl (d) =T
qIiat I

(1) (@) () (d) (@) (d)(c)(b)(a (3) (a)(c)(b)(d @) (@) () ) (b
Select the correct order of rivers of Maharashtra from north to south along 74° East longitude.
(a) Girna (b) Nira (¢) Kukudi (d) Koyana

Answer options :

1) @), (b), (&), (d) (2) (d)(c)(b) @ () fa)(c) (b)(d) (4 (a) () (d) (b)

wete fauH 9= .

(2) TAEeE snfin HAfedsH § SamEnde feR 9y R

(b) RIEUTTE] ARG Yrd WA 9.9% 3T6d.

(¢) ERURIG STEY FEgETal MY 1772 Hll EEHIE FiAl el

gt SN
(1) wa faum (a) SR TR (2) e MM (b) SR ST,
(3) Taum (a) snfin (b) SR A @) T8 (a) 3nfr () SR oA

Observe the following, statements :

(a) Nitrogen and Oxygen are the constant gases in atmosphere.

(b) The % of air borne dust particles in the atmosphere is 9.9.

(c) The gaseous nitrogen in the atmosphere is found by Rutherford in 1772.

Answer options :

(1) Only statement (a) is correct. (2) Only statement (b) is correct.

(3) Statements (a) and (b) are correct. (4) Statements {a) and (c) are correct.
22, TENTE (A e Saws AL o @ fawr oy

& TEFARUAT AR

(1) 306613 311 72° 16' ¥ 79° 54' (2) 305613 snfor 71° 16' 4 79° 16'
(3) 307713 Zf 72° 36' d 80° 54' (4) 307613 iy 72° 26' @ 80° 44’

The Geographical area of Maharashtra stateis ______ and it extended between
_and __ . _ East longitude.

(1) 306613 and 72° 16' to 79° 54' (2) 305613 and 71° 16' to 79° 16
(3) 307713 and 72° 36' to 80° 54' (4) 307613 and 72° 26' to 80° 44'
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23. woe faurmE faur 3
(a) 1933 WIETIREA HeRI T Yarruai= fahgieionet gea o,
(b) STARET 3RS Ik (IIP) & Hog 39 o7,
it I
(1) ad (a) faum s TR, (2) E (b) faum e SR,
(3) (a) 3 (b) faum =R . (4) () 3fOT (b) Taum SR TR
Consider the following statements : )
(@)  Since 1933 the cotton textile industries began to decentralise in the state of Maharashtra.

(b) International Infotech Park (11P) is located at Navi Mumbai.
Answer Options :

(1) Only (a) statement is correct. (2) Only (b) statement is correct.

(3) Statements (a) and (b) are correct.(4) Statements (a) and (b) are not correct.
24. 2011 = TATHIHR AeRrgRIe fmgmmr .

(1) 934 (2) 922 (3) 925 . (4) 930

As per 2011 census the sex ratio of Maharashtra is .

(1) 934 (2) 922 (3) 925 (4) 930
25. GO el o

anfearedt s TAHHGAT HeiohuT rHews Faey

(a) fircw () ST, JaaHS

Y EIEETY (i) WO, i

(c) @rom (iti) ST, Y

(d) <R (iv) TES, 3

it 39

(@ () () (d)
(1) () (i) {) ()
@ @ v o a6
() 0 @ (i) @)
(4) () @) @) (Gv)
Match the following :

Tribe Districts of population concentration
{a) Bhil {i) Amravati, Yeotmal
(b) Katkari {ii) Palghar, Nashik
(¢) Kolam (iif) Jalgaon, Dhule
(d) Varli/Warli (iv) Raigad, Thane

Answer options :

@ (b) () (d)
(1) v) ) @) ()
(2) () () (i) (i)
(3) () @) (i) (iv)
@) @) G @ Gv)
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26. GIOGUH! HIE TS FUF Iood T ?
(1) 9= - far
() Sefeqarr S (RS
(3) TR STiHSH - ¥gS YR
(4) = TR feww - s
Which of the following pair does not match correctly 7
(1) KeshavSut - Nava Shipai
(2) Lokhitvadi - Shatpatre
(3) Babasaheb Ambedkar - Prabudha Bharat
(4) Bal Gangadhar Tilak - Murtibhanjan
27, e oAl ¢
(a) diE @ HE e
(b) T (i) IS SUHE
(c) g (i) FORE TS
(d) TIH (iv) oA fem
qgiet I
@ ® © @
M @ o v G
@ v @) @ )
@ o @ @
@ (v) @) (@) (@)
Match the following :
(a) Tambva (i) K.D. Patil
(b) Kameri (i) Kashinath Deshmukh
(c) Indoli (iii) Krishnarao Kurhade
(d) Palus (iv) Dinkarrao Nikam
Answer option :
@ (b) (¢} (d)
1 @ 6 G )
@ @ @ 6 @
@) 0 @ @
@ (v @ @ 0
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28. R AN Bl JATA A0 FS A ?
(a) 1908 T Y& FS B
(b) A & FHT=Al T fTewi= GH El
(c) & U HAifad SHaToAT Hioseht 2.
(d) aTe TiraTes Se, Tire ST ST ST U FwEd HOOH ¢ Ao HHER €.
(€) TR IUUA Ueh FUIUE ST Teohes .
Tt I
(1) HaE dhE (2) TR (3) TeeHa (4) CYHaH

Which newspaper is described in the sentences given below :

(a) It was started in 1908,

(b) Tilak was associated with the efforts made to start it

{c) It was owned by a limited company.

(d) Waman Gopal Joshi, Gopal Anant Ogale and Dattatraya Balvant Kalelkar are its staff
{(e)  But this paper did not live for more than a year

Answer options :

(1) Mumbai Vaibhav (2) Gurakhi (3) Rashtramat (4) Deshasevak

29, fodEn s Tt 1930-31 SO =41 QR 1 YTl AT HA.
(1) i & (2) i (3) AR (4) iamey
Vinoba Bhave wrote _ _______ during his imprisonment in 1930-31. .
(1) Gita Rahasya (2) Gitai (3) Gitasar {4) Gitabodh

30. =HKII 3o
() T 1874 Wi de A osedr | YreR s’ favEedte S giusd wevrh S g
(b) A HaE foramdion HoTE A,

it I
(1) I TFW WerH (2) &1 @Ay den
(3) oo dea (@) 9T WEE

Identify the Person.

(a) He was participated in International conferences on oriental studies held in London in
1874.

(b) He was Vice-chancellor of University of Bombay.

Answer options :

(1) Dr. Ramakrishna Bhandarkar (2) Dr. Kashinath Telang

(3) Pherozeshah Mehta (4) Vaman Modak

31. 1910 =0 99 ofae TR g S7o-A0s! IAHREA ¥ 5,000 T TEUH HAFTUAT 3OS
T YR WU W YR 98 ST ST,
(1) F= 2) TREH @) UgFd  (4) SHIOYw! THEE A
As per the Press Act of 1910, security of ¥ 5,000 was demanded from the Anglo-Marathi
paper in Bombay and as a result it discontinued publication.
(1) Kal (2) Deshsevak (3) Rashtramat (4) None of the above
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32.  "S® b wlesh AN sefgee garg yar feer

(a) TN W (b) EraEe fom

(¢) T HA (d) i\ FHIR g8

gt 390 :

(1) (@), (b) (c) (d) (@) (b} (a) (d) () 3) () {b)a)(d) @) () () b)@
Arrange the {ollowing in correct chronological order :

(a)  Lucknow Pact (b) Homerule League

{c)  Surat Congress (d) Congress Democratic Party

Answer options :

(1) (@), (b), (), () (2)  (b), (@), (d), (&) (3} (o) (b), (a) (d) (4) (c) (d) (b) (a)

33. TYU-Ta¢ ANwEe HEme oy ws i g SR,
(1)  TEST H=d (2) TSl Heed (3) AT TEH (4) TSI TER
Near Poona-Mumbai Road Mangirbaba Mandir is mausoleum of .
(1) Raghoji Salve  (2) Lahuji Salve (3) Umaji Naik (4) Dadaji Naik

34, URIGUS! FHITA HAIHEA 2T, A€HRd SHeSHhU fog TH SR &I Heh 3718 ?

(a) frotarer T fegzem (b) Treew 371 feggem

(¢) Tfes = e d) B o< few v

ERID TR

(1) (@ %R (2) (a), (b) 0 (d) Ferd (3) (OWFHE (4 (d) FH

in which of the (ollowing books Dr. Babasaheb Ambedkar has critically examined
I linduism ?

(@) Philosophy of 1linduism (b) Riddles in Hinduism

(c) Religion in India (d) Buddha and his Dhamma

Answer options :

(1) (a)only (2) (a), (b)and (d) only (3) (Jonly (4) (d)only

35, “‘Tard sEifimyE’ @ ufge faeni =i [ 2

(1) T 60 A8 (2)  TRgAST ARrSTt

(3) Termaahud Sy (4) SIS BRgEST
Who was the First Secretary of “The Bombay Association” ?

{1) Bhau Daji Lad {(2) Fardunji Naoroji
(3) Vinavakrao Jagannath (4) Bomanji Hormusji
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36. HeERIE faum givedsd s faum [Eiets! fauri Wy wme o
(a) 1935 ¥ HEALER §F FUTH TUUE HERIYT US| o Jo5eAl Yo Wid GaR o
T,
by = FurpEr e SEYR AR SihEe e’ A9 1935 T e,
(c) Taem sftweean fafidion 3o et wewsen 29 Bt ft ared TS 1957 7Y 40 Ft S0

T[T < 78 SR,
W’fﬁ B?ﬂ' :
(1) % (a) (2) e (b) (3) D (o) (4) % (b), (o)

Find out the incorrect staternent/s about Legislative council of Maharashtra.

{a) As per 1935 Act two legislative houses were created in Maharashtra i.e., then Bombay
province. _

(b) First of its session was held in Pune in Council Hall in 1935.

{c) Its membership at its creation was 29 later rose to 40 in 1957 and at present it is 78.

Answer option :

(1)  (a) Only (2)  (b) Only (3)  (¢) Only (1) (b) (c) Only

37. SN W ¥ UERE! higel S doeaiel faH] S8 T ST wEg 91 TR e ).
(1) e fa= () w3 fa= (3) oTiR™ (4) wIEM iva Sfsem
If the act passed by parliament proved that it is against the principle of constitution, it is
termed as :

(1) Ultravires {2) Intravires (3) Ilegitimate (4) Legitimate

38. mwﬁwﬁwﬁﬁ%mﬁ%ﬁ%waﬂa@m@wm?
1) @ A fafiries faufsia wtle o e fasue Jvam Ry e,
(2) U THES HAHS dqN HGHed deed™ HIfad Side sty T5g Sefauart seregRt

[E=EALGIL
@) @ v FHRfE g veed e wWa e .
(4) FSUHRT HrowTE!

What can the President do if a state fails to comply with directives of the Central
Government ?

(1)  Ie can dissolve state legislature and order fresh elections.
(2)  He can declare the breakdown of constitational machinery in the state and assume
responsibility for the governance of the state.

{(3) He can send paramilitary forces to the state to secure compliance.
(4) Any of the above

39. AT TRl e uiiremed fot wrieEn e TP FOA e
(1) 1976 2y 1967 (3) 1992 (4) 2004
Sindhi langnage was included in the eighth schedule of the Indian Constituionin
(1) 1976 (2) 1967 {3y 1992 (4) 2004
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40.  WRAT=A1 WU HeAHden Heeeeen faumr faun wa.
(a) WA YeeaEE 299 749 Got aTe.
(b)  Heerear wiafei=i dem 70 v % ge.
(c) Widren 5 Hw sngaaren Qidien wfafaef= S 229 gas! 6 e,

FFAHT Sl faam/ faam aEt o ?
(1) w%de (a) (2) HEE (a) S (b)
(3) ®A@ (b) T () (4) (), (b) 31T ()

Consider the statements about strength of Constituent Assembly after partition of India.
(a) Total strength of Assembly came down to 299.
(b)  The strength of the representatives of princely states was reduced to 70.

(c) Strength of the representatives of provinces and Chief Commissioners Provinces was
reduced to 229.

Which of the above statements is/are correct ?
(1) (a)only (2) (a)and (b) only
(3) (b)and (¢} only (4) (a), (b) and (¢)

41, 'JONd Faed dGTe WO [AaEiThT SIvTE Set STE ?
(1) T IO 42 31 9e3gesy TegHed F0dr 3w 3.
(2) T GYEY TSR G TV A7 91 7 TauTTa e ST IR,
(3) = THEY FOH 51-A HE TR ST SR,
(4y @ ey AR T WA S SR
Which one of the following statements is not correct about ‘Fundamental Duties’ ?
(1) These are included in the constitution by the 427 constitutional Amendment.
(2) These are included in Part '1V A’ of the constitution, which is a new.
(3) These are included in Article 51-A.

(4) These are applicable to Indian citizens as well as to non-citizens.

42, 15 IR 1943 THT GUIfd WRE SRR HRAE], 1935 i A faam
(Fod) snfor _ 9ffee g
(1) 15, 325, 12 (2) 14,321, 10 (3) 16, 320, 8 (4) 17,324, 9
The Government of India Act, 1935 as amended upto 15 August, 1943 had
parts __ _sections and __ schedules.
(1) 15, 325, 12 (2) 14,321, 10 (3) 16,320, 8 (4) 17,324, 9
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43. @OGIH! B fauE/A S0eT R/ ?

@) T fafudearen srde afars TE =E ooar SoRE 98t/ Tedwl T

(b) uﬁwﬁnﬁwmﬁavww%wm a1 T Tafudsarn VR 9YrpR 9uEs <6
.

(c) Taurme= guTTet U FHoe SAfad v Hieasa T faunwad 99He %[ o

(d) T~a fafrdesmen amiEim T 93t = 6 39 AR

it I

M @b 2 @@ @ bW @) (a) 3ufor (b)

Which one of the following statements is/are correct 7

{a) There is no bar to the appointment of a person from outside the state legislature as
minister.

(b) A person appointed as a minister has to become a member of either house of state
legislature within a six months.

(c) A person appointed as a speaker of Legislative Assembly has to become a member
within six months. '

(d) Nominated member of the state legislature cannot be appointed as minister.
Answer option :

1) (@), () (© 2 (@) (o) (d) (3) (b) only (4) (a) and (b)

44, TR foum av=mn gurdteEE g faum fosog =0 .
(a) SR foum a9=r 9= Ufeer g | @M TS U8 WL or.

(b) VRIS SIS FSfvATEIET S @ Faws StearEURis @ e Sea 59
SIS SR Sl A,

(¢) 1 Ea: FIHHS GeoTTR AfEr SiEsy 39,
(d) N v faeiie g SE FYREoA WIE 98 Feaee st

YT v faum SheET ST 2

1) (a), ®), (o) (2)  (®), (©) (d) G) @) © @ ®) @
Consider the following statements regarding the speaker of Maharashtra Legislative
Assembly :

(a) He has to vacate his office if he ceases to be a member of the House.

(b)  Hisconductin regulating procedure or maintaining order in the house can be challenged
only in the High Court.

(c)  He himself is the chairman of the Business Advisory Committee.

(d) He presides over a joint sitting of both the Houses of state Legislature.
Which of the statements given above are correct ?

1) (@) (®), (© 2} (b). (0), (@) 3 (@) @ ®. @
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FE-TY ATAS ST HaUTsed Sisal ol

(a) ST 248 @)  eoiierl S STEai U gee ST S s gy
e

(b) STT=T 249 (i) < fahar sty Teienfiar wiem Sudt S FvarE e SAeR
(c) ST=T 250 (iii) FERHEEE WA AHFER
(d) HTT 252 (iv) TN feamnet TegEidie Tt SR S o SieR
it 36

(@ (&) (9 (d)

1) @ G @) ()

) () G (@) Q)

3) @) @ @) ()

@ (@) @) @ 3@

Match the pairs with regard to Centre-state legislative relations :

(a) Article 248 (i)  Power of Parliament to legislate with respect to any matter in
the state list during emergency

(b)  Article 249 (i) Power of Parliament to legislate for two or more states by consent

{c)  Article 250 (iti) Residuary powers of legislation

(d) Article 252 (iv) Power of parliament to legislate with respect to a matter in the

state list in the national interest
Answer option : ,
@ () (o (d
1y O G @) @)
(2) Gv)y (@) (i) ()
@) () @@ ) @)
@ @) v @ ()

46.

TSENET o] THRITUFER Tars TZTdl ST ¥ehd AT ?
1) frgw (il @ Tmems  (3)  wgE (fedew) ) vt (9%e)

Which one of the following “veto power’ cannot be enjoyed by the President of mdia ?

(1)  Absolute (2) Qualified (3) Suspensive (4) Pocket

wHo HHEE A/ SPACE FOR ROUGH WORK
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47. TS hol (R 1) A T (PR ) Aien A e e -
gt - o . et -
(FHoR) (AER)
(a) FOH - 165 () T Hel tee
(b) HH - 171 (i) foum ofteg =
(c) oM - 214 (i) TIEE 3= I
(d) wHoH - 233 (iv) fawe it fraw
i S

@ () (o (d)
Q) (v) (i) () ()
@ @ @) @) @)
(@) G v @ )
@ @ @ (v ()

Match the following pairs regarding Articles (list A) and Provisions (list B) of Constitution.

List - A List - B
(Articles) (Provision)
{a) Article - 165 (i)  Advocate General of State
(b) Article - 171 (i) Composition of legislative Council
(c) Article - 214 (ili) High Courts for state
(d) Article - 233 (iv) Appointment of District Judge

Answer options :

(@ () () (d)
1) ) Gi) 6@ 6
(2) ) @) (D) (iv)
() Gi) (v) () ()
@ @) @ @) (i)

48, rmmg@qnﬁm;@ﬁaﬂﬁaﬂvﬁwwaﬂ%?
(1) & TEIEIE W@ TeelR BUA FR Sl
() S UG U UeEe eiRodl FEa o HE S el wedt e der d

STl TE HeATR WU & RT.

(3) Siw wefym o faaria 9REE=N (Zonal Council) U< 1A ®E Al AREUEH fauria
IR W@ R FE A,

(4) HR-fEmAF (Inter-departmental) faaTemETET=I TOA FHoedl Gd ST TG I
@ HE H@.

Which one of the following functions of the Cheif Secretary of the State is not correct ?

(1) He acts as the principal advisor to the Cheif Minister.

(2) He acts as the Cheif Advisor to the Governor if the Central Advisors are not appointed
and the Presidents’ rule is imposed in the state,

(3) He acts as the Chairman by rotation, of the Zonal Council of which the state concerned
is a member.

(4) He acts as the Chairman of co-ordination committees set up for inter-departmental
disputes.
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49. uRgred frEeh 9 I e Wotett! HVR e/ ateR oRy/a?
(a) AT 9 WEURGH I g S e,
(b) = e 3o Fa vt Ugueiig® Ffver Fe s,
(<) WWWWW{(%WW
(d) A% 9 TEeEiys (Fe, Aiyer o SawE!) it 1973 T9R %7 weemie
ol fqumm &1 o Fiar favmmree e e S,

gt 4L
(1) (a) WK (2)  (a) 3707 (b)
(3) TIBUHRT THLT AL @) (a) omf (d)

Which of the following is/are correct about CAG of India ?

(a) He is appointed by the President for a period of five years.

(b)  His salary and conditions of service are determined by President
(c)  He can be removed by the President on his own.,
{

d) The CAG's (Duties, powers and conditions of service) Act, 1973 separated accounts
from audit in the Central Governement.

Answer options :
(1) (aj only (2) (a) and (b)
(3) None of the above (4) (a) and (d)

50. waren e 9 TRoE sl Edie U faemE -
(a) WA ToTFR=A1 % 148 TAR TGl (A% 9 Heoad e e wiam.
(b) IMHHE WA SAMTAET F:01 ¥ T o Feroamiys™ 7" w1 .
(c) T 9 mEREmiea STTId STEde Taeel Hiet Hiam.
TSR IR/ faumE/3 at=T /a2
(1) (2) 30T (b) (2)  (b) ST (c) (3)  (a) 3 () (4) P (a)
Consider the following statements regarding with the Comptroller and Auditor General of
India :
(a)  According to article 148 of Constitution of India, the Comptroller and Auditor General
is appointed by the President.
(b)  The rain duty of the CAG is to audit the Government expenditure.
(¢) The CAG submitted his report to the Parliament.
Which of the statement/s given above is/are correct ?
(1) (a) and {b) (2) (b) and (c) (3) (a) and (c) (4) Only (a)

oAl IHTE S/ SPACE FOR ROUGH WORK
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51.

25 E12

PHA e oWl & 9 fayr/A emea.

(a) Trencien wrsite fearen aEi®e H=r9 o8 AYUATaSE 8 Uh U 3le.

(b) < wisTIEE 50 HEEAY THYA HAETEH .

() ToaEYS g I ATRTAEH] i THa.

(d) 1952 A Y€ 3OS HHE Fonedies ARl IEdl e

Taid 3T

(1) (a) W (2) (d) wH () @ ®© @ @
The correct statement/s about calling attention notice is/are :

(a) Itisadevice of calling the attention of a minister to a matter of urgent pubhc importance.
(b) It needs the support of 50 members to be admitted.

(c) Rajya Sabha is not permitted to make use of this device.

(d) 1t is an innovation in the Parliamentary procedure since 1952.
Answer options :

(1) () only (2) (d)only G) (@) () (9 (4) (a) and (d)

52,

e faur fa=mm -

(a) IuTwIE 3T FuIt & fofEa Ui qeain 9t & wehdam.

(b) FEFEAR (Attorney General) 310 #g 3ifaehal (Solicitor General) ® Tolaa usiam
YA HIGT & YTehdT.

TGS R [FEE/ 7 S0E AR/ ?

(1) % (a) 2) WH () (@) () 30 (b) I (@) (a) M (b) IEE

Consider the following statements :

(@) Deputy Speaker and Speaker may resign by writing to each other.

(b) Attorney General and Solicitor General may resign by writing to ¢ach other.
Which among the above statements is/are correct 7

(1) Only (a) (2) Only(b) (3) Both (a)and (b) (4) Neither (a) nor (b)

53.

YRS IR Foed e Teetet ST gee fagq daa ? T faer -
(@) Tl WA sEEn (b) MUHRE @y

(¢) TG AmiEhe d) T FEcHes

(e) AT AIHSD (f)  soitanl faures aet

T IO

(1) ®H (a), (b), (c), () (2) A (a), (b), (d), (e)

(3) WH (o), (d) (e), () (4) e wd

Which of the following original principles of federal system seen in the Indian Federation ?
Choose option :

(a) Dual Governmental System (b) Distribution of power
(c) Single citizenship (d) Bicameralism

(e} . Independent Judicary (f)  Provisions of Emergency
Answer opftions :

(1) Only (), (b), (o), (© () Only (), (b), (d), (¢)

(3)  Omnly (), {d), {e), (D (4) All of above
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54, TEGIH! FIOY YR SER 3N ?
(1) TrHOY T=, Ha TauiTd AWK T 379 YRR,
@) So-gfera smr gl termdn TARERGT SR e T TR,
(¢) TWtENa gemEE! Fi WH U e S TS AUl e,
(4) mfERT T TRt i I TdE Fasum s A w6 el

Which one of the following statements is correct ?

(1) Only the Rajya Sabha and not the Lok Sabha can have nominated members.

{2) There is a constitutional prevision for nominating members to the Anglo-Indian
Community to Rajya Sabha.

(3) There is no constitutional bar for nominated member to be appointed as a Union
Minister.

{4) A nominated member can vote in the Presidential and Vice Presidential Elections.

55, faummYen qurrdifaeg=n sifavarae oo faan faumwa =
(a) STHI ST HISUITHN W TR U Afe=ard] AT 0 ST 318,
(b) THYT AT YETo X BIvATHSTEE] S0d foamrd oA 1 dewie s fame

NETIEIGIS

(c) TN YEHIeN ST FH G| wfeceare id Ade %% Yehdi 0 WHEAR Hd Fedrd
e Wa T Wiehd I

i 34T

(1) faum (a), (b) ST 37T (2) faum (b), () S 3TRA.

(3) faum (a), (b), (¢) ThEL 3T (4) AU (a) SRS .

Consider the following statements regarding no-confidence against speaker of Legislative
Assembly :

(a) One month’s notice for moving such resolution is required to be given.

(b) The Speaker does not preside when a resolution for his removal from office is under
consideration.

{c) The Speaker can vote only in the first instant on such resolution but not exercise a
casting vote.

Answer options :

(1) Statements (a), (b) are correct.  (2) Statements (b), (c) are correct.

(3) Statements (a), (b), (c) are correct.(4) Only statement (a) is correct.

56. el TEI HAHMAR =AU STRY e, doal WidredT HEie e s TR $ed
fepelt et ?
(1) 9=t (2) ¥ (3) S 4) 7=
How many judges were in Supreme Court of India, when the court was inaugurated with

the new Constitution ?
(1) Six (2) Seven (3) Eight {4) Nine
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57. woe faum feemmE = -

(a) TEFEET= 9 V TS gl 11 ¢ T fafydeardsia 4.

(b) THERm, srvTEe TR SNy IS TSA faur s HEwisE W 60 e FHT AR

() AWM 97 aEdie faas oFel-3fea smr g faum ava TMiERE wtar Jam.

(d) cFR-dfegwem iy wR 2020 T ARfavEE TP AR,

FUH! FIOR a3 SET AR/ T?

(1) () () (2) (d) &K (@) (a) B @ (a) (d

Consider the following statements :

(a) Chapter II of the Part V of the constitution is concerned with the state legislature.

(b) Mizoram, Arunachal Pradesh and Uttarakhand have less than 60 members of Legislative
Assembly.

(c)  The Governor may nominate such number of members of the Anglo-Indian Community
to the legislative assembly as he considers appropriate,

(d) The provision for nomination of Anglo-Indians has been extended up to 2020.
Which of the above statements is/are correct ?

(1) (k). (0) (2)  (d) only (3)  (a) only 4 (a) (d)

58. WS faum oI = -
(a) T faym 4Rwdd 1/3 9 TsaTerne e g
(b) TF faum aftes 1/3 Hew faum avsgs faes s
() T faum 9ftwed 1/4 v e g @x9aed fass wam.
(d) T fayr 9iEad 1/12 99 Yearisgd Mass WA,
= feos faum/ faumitst Fo" ama Ry amea ?
1) (a) ¥ @ @@ () @afie @ b )
Consider the following statements :
(@) 1/3 members of the Legislative Council of the State are nominated by the Governor.
(b) 1/3 members of the Legislative Council of the State are elected by State Assembly.
(c)  1/4 members of the Legislative Council of the State are elected by Local Self Government.

(d) 1/12 members of the Legislative Council of the State are elected by the Graduates.
Which of the statement/statements given above is/are correct ?

(1) (a) only (2) (a) and (b) (3) (a) and (c) (4) (b)and (d)

59. WiR®m! HIvd WY YRarsA Hiwa feftat st Feor - s ?
(1) war= =ararearen =ardie= a7 st 99,
(2) <E FEEErEA =TS Ja anfir 99,
(3) YRGrAl g 9 mRIeENeTETE 9q7 e o,
() WA AT JYEEE G,

Which of the following expenditures is not charged on the Consolidated Fund of India ?
(1)  Salaries and allowances of the judges of the Supreme Court

(2)  Salaries and allowances of the judges of High Courts

(3) Salary and allowances of CAG of India

{4) Administrative expenses of the Supreme Court
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60. WG frafem smrmeEa TEieist Fvd faum ste o ?

(1)
2)
(3)
(4)

T fagu@ e i o= g A 99 YR AR

e A=A AT S gdH § SROEE! USSd 6o 99 T Ugd I g

Which one of the following statements is correct regarding Election Commission of India ?

(1)

(2)

3)
(4)

The Constitution has prescribed the qualifications of the members of the Election
Commission.

The Constitution has debarred the retiring Commissioners from any further appointment
by the government.

The Chief Election Commissioner and other Commissioners have equal powers.

The Election Comumissioners cannot be removed from office except in the manner and
on the ground as a judge of the Supreme Court.

61. oo faum faamm = -

(a)
(b)
()

YRS 9fes ore TEed 1986 He =9 A9 WRfquam 31eh.
Bk AT s Yeniga fhen Heterfa =i ST
BIF TS SEasl ARYIaeS T i a9 e,

FheUH! v/ fawm/a siET seg/qa 7

(1)

(a) ST (b) (2) (b) A (c) (3)  (a) 3 (c) (4)  (a), (b) 3T (o)

Consider the following statements :

(a)
(b)
(©)

The First Lok Adalat was held in Chennai in 1986.
The chairman of Lok Adalat is a retired or sitting Judicial Officer.

No appeal lies against the order of the Lok Adalat.

Which of the statement/s given above is/are correct ?

(1)

@and () (@ (Band©@ () @and(© @ (@), band()
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A YRERTE ) e SEeed] SUieEe Seieis! $IoR faun gt o (fad:

TR, 08 18, YNd 9T W= §5yid)

(1) Il STenst AHE) 3T T4 oa o i, YA TeeeTd Heearde Teanas sy
31U TehTed 318 94 #3931y 4 3t

(2) e S = Hoted fHT i S st T € WRdiE TeFEed S
Il T e SR

(3) I Sita Tgg! M <IR SeTe A1 7Y T e o &, HHUd Sga] HeRAHS
e A fAfvaa st s e

(4) TGS TEHE R

Which one of the following statements regarding judicial interpretation of Indian Federalism
is not correct 7 (Particularly with ref. to S.R. Bommai Vs. Union of India Case)

(1)  Justice Ahmadi opined that it would be more appropriate to describe the Constitution
of India as quasi-federal or unitary rather than a federal constitution.

(2)  Justice Sawant and justice Kuldip Singh regarded democracy and Federalism as essential
features of the Indian Constitution.

(3)  Justice Jeevan Reddy and Justice Agarwal opined that the expression federal or federal
form of government has no fixed meaning.

(4) None of the above

63.

WTT TSI =] JIEIaRTTeR YA © TSI 3T, qeiTarshre] el shior ?

(a) TShdl SRS T4,

(b) WEIM T wRG AHEHMHE ST

() I THE © SHdhgA e whiemet fagar am!.

(d) ULIE T SHahed 9 Fedd! fHaser S,

e feeed WErE ana 19ty e ,

(1) ™% (a) (2 (a), (b) = (c) (@) Tewd (4) (a) A (d) P

According to the ‘Preamble’ of the Indian Constitution, India is a ‘Republic’. What is the
meaning of Republic ?

(@) There is no hereditary ruler

(b)  The Sovereignty resides in the Central Cabinet

(c)  The head of the government is elected by the people for a fixed period
(d)  The head of the state is elected by the people for a fixed term.

Select the correct answer using the codes given below :

(1) (a) only (2) (a), (b)and (c) (3) all above (4) (a) and (d) only
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64. Wohe faum fa=mm =1 -

(a)

TG A § A AR e TEEH.

(b) HlEHER THYS SFEER T8

(¢) SUULYG FEahi TE@E Fad I-TESTd qige Aa.

FiTHF FIE /o faeam/ at=n o me/a?

() @3afE© (2 pAT(E  (3) (@A) (@) (a) b) ()

Consider the following statements :

(a)
(b)
()

The chairman of the Rajya Sabha is nol a member of this house,
The council of ministers is not responsible to the Rajya Sabha.
The proposal to remove the vice-president is initiated only in the Rajya Sabha.

Which of the statement/s given above is/are correct ?
(1)  (a) and (b) (2) (b) and {c) (3) (a)and (¢ 4) (a), (b) and (c)

65. Ty ‘anfofer smoftemon’ wifig o @ EEeiE HIo T ke 2

(a) T FMiER Wd goyd Afven Teliad w6 .

(by Il wElw AEGd A I e =AY aed TR wHEre a9 S
T HYA HE AN

(c) T=Td e HIERRe Aol T Tod FUarEsH T e 4 .

() Too fafirieam vug Fodt 9d @ fadrs Tewd=a fammad TEn Saet siq e,

Tgatet I

(1) fa9m (a), (b), () ST 3. (2) f&EEE (b), (o), (d) T AR,

(3) faum (o), (d) S R (4) Taum (a), (b), (d) TAS 3.

Which of the following, will be the consequences of the proclamation of “Financial Emergency”
by the President ?

()
(b)

()
(d)

The President can suspend all the fundamental rights of the citizens.

The President can reduce the salaries and allowances of government employees
excluding the judges of Supreme Court and High Courts.

The President can give directions to the state to observe the principles of Financial
propriety.

All money bills passed by the state legislature can be reserved for the consideration of
President.

Answer oplions :

(1)
(3)

Statements (a), (b), {¢) are correct.(2)  Statements (b), (c), {d) are correct.
Statements (c), (d) are correct.  (4)  Statements (a), (b), (d) are correct.

FoAT HIAEE S0/ SPACE FOR ROUGH WORK


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A

66.

31 E12

e faumHite FIR et 378 7

(1) WfEEFAM 10 =0 9 wod 244 3793 Taftre Wi siggfea wew s syfcardt wawmn
=Sl S e foe T qE T ST STR.

(2) IrTgfed wRw SnfYr STIHfa SHen Yewe g N FEEv Ao St 5o
gRfereme s

(3) oM, faq, Teem i e @ SWEesie AR Sfa! FRurn TerEreE
TR 6 = ufifyrersd smed.

(4) TERI TRV Agfaa’ wifta s dfieR e o1,

Which of the following statements is incorrect 7

(1) Article 244 in part X of the Constitution enviseges a special system of administration
for certain areas, designated as scheduled areas and tribal areas.

(2) The fifth Schedule deals with the Administration and control of Scheduled areas and
Scheduled tribes.

(3)  The sixth Schedule deals with the administration of the tribal areas in the four North
Eastern states of Assam, Tripura, Meghalaya and Mizoram.

(4) The Governor is empowered to declare an area to be a Scheduled area.

67.

FE- U deyEETs RdigE Tt g st s

T /At Toera
(1) HCHIFET ST - AfEe wRdH 961 1§ HUd
(2) TSR A - 3, T, sifverifaent o =nfeas sven atfas YRdE
a1 i Fi=m.
@) YS! - wfEe awdr Q91 sifvs yee SO
(4) TR Hifed S - e W T, T SI9ER, SoEe ST g
Tdh4 Faifed fawg s1gmEq,

Identify the correct pair with regard to the recommendation of center-state relations :
Commission/Committee Recommendation
All India Services should be abolished.

New All India Services like health, education,
engineering and judiciary should be created

(1) Sarkaria Commission

(2) Rajmannar Comumittee

(3) Punchhi Commission - All India Services should be strengthned

(4) Anandpur Sahib Resolution - Centre’s jurisdiction should be restricted only to
defence, Foreign affairs, Communication and
Currency. :
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68. faum (A) : TRAMY] TV FETETY WAt AR 9 I e SR 85 99 ST
faur (R) : wai= =red 9 9= <Red Tte! St Foalientor, WA, 9fady, IS 9 syt
§ 3T TG TR,
(1) faumd (A) &for (R) ST 0= a7 oy faym (R) ® faum (A) = 909 Wi o1,
(2) faum (A) enftn (R) T s aTRT W fawm (R) ® a9 (A) 3 9 =it .
(3) faum (A) SR R (R) & TH,
(@) TouM (A) g3 T (R) & T

Statement (A) : The writ jurisdiction of the Supreme Court and High Courts in India is
same.

Statement (R) : Both, the Supreme Court and the High Court can issue the writs of Habeas
Corpus, Mandamus, prohibition, certiorari and Quo warranto.

(1) Both (A) and (R) statements are true and (R) is the correct explanation of {A).
(2) Both (A) and (R) statements are true but (R) is not a correct explanation of (A).
(3) Statement (A) is true but (R) is false.

(4) Statement {A) is false but (R) is true.

69. ¥ TREHE WAGUH! HIvM fauE T e 2
(1) 9T 163 UL TR FOO T &Y, TATOH Heed FRUAHIS! o Heoll SUardie! T Haafey
TS,

2) < faueaas fagst 900 o T TeaTTerd Heell svarre! FgHre wHHflug e

(3) =T 164 o9 WAGwe € ArifrET fayraay JeEeR e s st
Y@= TAEGR 3TEe,

(@) TorEeTy dgenfinien ot FoRE SR e foe E.

Which one of the following statements regarding council of ministers is not correct ?

(1)  Article 163 states that there is to be council of ministers to aid and advice the Governor.

(2) A Council of Ministers must always be there to advice the Governor, even after the
dissolution of the Legislative Assembly.

(3) Article 164 provides that the Council of Ministers is collectively responsible to the
legislative assembly and individually responsible to the Chief Minister.

(4) The Constitution does not assign any formal powers to the coundl of ministers.
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70. W faus faamm = -
(a) TE FAGARS ARME RN TV (IS He o Mo 3o =-AIear= & = e

T Hn.
(b) T =AM GeggeTH ey Semvarar s o7,
itets SR/ @ faum/ StEw om/a?
(1) H (a) (2) T (b)
() (a) M (b) (4) =

Consider the following statements :

(a) The Judges of Subordinate Courts are appointed by the Governor in the consultation
with the Chief Justice of the High Court of the concerned state.

(b)  Session Court has power to impose the death penalty.

Which of the statement/s given above is/are correct ?

(1) Only (a) (2) Only (b)

(3) (a) and (b) (4) None of these

71. AT FHYF AT
(a) T YEEEuEl 9 AT 95 SR
(b) FrEwR AfeERl A FrgERT TeeEAER B
(¢) TR UETEdrn YIHEE THE wEEN A s
(d) T USTETS G 9@ 9 ° 30 STE.

ugldr 39
(1) ®K (a), (b), (c) (2) ®H (a), (b), (d)
(3) ®H (b), (c), (d) (4) T (a), (c). (d)

Select the correct statements :

(a) Two nominated members were in Nagar Panchayat.

(b)  Executive officer is appointed by State Government.

(c)  Executive officer is administrative head of Nagar Panchayat.
(d) Total number of members of Nagar Panchayat is 9 to 30.
Answer options :

(1) Only (a), (b), (<) (2) Only (a), (b), (d)
(3) Only (b), (©), (d) (4) Only (), (c), ()

72, ETY FYA Al : (FeRTETE anfe vt 2016-17)
(1) TR TRYfSHE &1 234 3R,
(2) HENSMH TRYGEH &A1 130 R
(3) WERIMH Hhesh Heaidl Y&l 7 o1,
(4) TRTORHLY HeTRUIGHE T 27 3T,
Select the incorrect statement - (Financial Survey of Maharashtra 2016-17) :
(1)  Number of Municipal Council in Maharashtra are 234.
2)  Number of Nagar Panchayats in Maharashtra are 130.

(
(3) Number of Cantonment Boards in Maharashtra are 7.
(4) Number of Municipal Corporation in Maharashtra are 27.
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73. UG HY/FUS BE
(a) TS e R, ' daEada aifyeR ifuwam, SRt o e,
(b) 1948 WA UHTSATA TS WO HeI=T T4 TAFAR] 3Hd PR A1 AT

YT A3 .
WWBT'IB!':
(1) (a) 2) (b)
(3) <R T T (4) < FUH g

Select the correct statement/statements :

(a) Pandit Nehru State that, “The greater the powers of Panchayats, the better for the
people”.

(b)  In 1948, ministers of Local Self Government in the states met for the first time under the
chairmanship of Rajkumari Amrit Kour.

Answer options :

(1) () 2) (b
(3) Both are correct statements (4) Both are incorrect statements
74, e @@l - (AN T -
] a].' laP

( "/ EHaInTea W) (TTOTYE - WU AAGREEA Eahard )
(a) To&R (i) 10%
(b) wETE (i) 5%
(¢) BUHTE (i) 12.5%
(d) T (iv) 20%
TgiEt I

(@ (b) () (d)
1y i) @) 6 G
@ O @) (@) (@
(3) (iv) (@) (i) ()
@ @ Gv) (@) ()
Match the pairs - (Quorum for Gram Sabha) :

lAf IB’

{(State/Union Territory) (Quorum-percentage of total number of voters)
(a) Bihar ) 10%
(b) Chandigarh () 5%
(¢) Chhattisgarh (i) 12.5%
{d) Tripura (iv) 20%

Answer options :

@ () © (@
M @) @) 6 G
@ O @ @ @
B) ) @ @) 6
@ G ) 6 G
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75. WRAE TSTHITEN ®ed %, 243 P IHM HEATR &R (AgMifedd i) wus |
faben oI sk orbde oo feam T Rarfesst fehan gemdt fohan s wom wm
IS .
(1y 16,1 (2) 10,2 3 12,3 4) 92
According to Article 243 P of the Indian Constitution a ‘Metropolitan area” means an area
having population of ____ __ . Iakhs or more and consisting minimum
Municipalities or Panchayats or other contiguous areas.
(1) 16,1 (2) 10,2 (3) 12,3 4 92

-

76. AT FHUA e |
(a) FodaUd Hdl WHAHET TON SR, 1957 Hed H0ar el Bl
(b) SHTE T & HEA Yourd WISt HEIHA B
(c) o pofan, S g, L. i % = aiide T uew aa.
(d) TR TRwyE P T TS e W T F.
e 3 |
1 (@), (). (o) (2) (a) (b), (d) 3) (@) (o) (d) 4) () (o) (d)

Select the correct statements :

(a) Balwantrai Mehta Committee was established in January, 1957.

(b) Balwantrai Mehta was a ex-chief minister of Madhya Pradesh.

{c) Thakur Phulsing, B.G. Rao, D.P. Singh were other members of committee.
{d) Rajasthan accepted three tier Panchayat Raj System firstly in India.
Answer options :

1) @, ®), (© (2)  {a) (b), (d) (3) @ (o) (d) 4) (), (© @

77.  HEWIY HeHTRUT G AT 1949 THTH 3 SRITIEN S 271107 6 SRargdd Senge STHae yeias

(1) 85 (2) 75 {3) 55 4) 65

According to the Maharashtra Municipal Corporation Act, 1949 the minimum number of
elected councillors shall be ____ for cities with population above 3 lakhs and upto
6 lakhs. '
{1) 85 (2)y 75 {3) 55 4) 65
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78. QY Y/ FYA o ¢
T fafyrses wmae wed Tt s el ®ie | dems) gfafidia 39 awd
(@) TR TYTEARIE a9 SHaHkit
(b) TR} T T @ SEGTMT ShaY T8
(¢} T TN W o=l FRAGIME a8 T8
(d) 3T TRAE TERTe ST
(1) T (a), (b), (d) (2) T (a) (0), (d) (B) H (b), (o) (d) (4) T (a). (b), (c)
Select the correct statement/statements :
State Legislature may, by law, provide representation in a municipality to :
(a) Experts in Municipal Administration '
(b) Lok Sabha members from the Municipal Area
(c) Rajya Sabha members from the Municipal Area

{d) Person from the Anglo-Indian Community

Answer options :

(1)  Only {a), (b), (d) (2) Only (@), (), (d) (3) Only (b), (c), (d) (4) Only (), (b), ()

79. AR FY/HU eed :
(a) 73 A1 TRAT GERAE ST HIOR HERIY ¥ MRS W 9 330,
(b) 73 =1 UZ gAY THEm, e o Aeee 4 gvard S,

i 34y _ 7
(1) %= (a) (2) % (b)
(3) (a) 3nf (b) T 4) () A (b) o M

State the correct statement/statements :

(a) Maharashtra became the first state of India, implement the 73" Constitutional
Amendment.

(b) Mizoram, Meghalaya and Nagaland were exempted from 7314 Constitutional
Amendment.

Answer options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) {(4) Neither (a) nor (b)
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i;O. YA e SfE’a'qT HYAA mfwmﬁ (Collector) 9§ Frrmfor &,
(1) 1857 (2) 1772 | (3) 1818 (4) 1836

The post of the District Collector was created in India by the East India Company in

(1) 1857 ) 1772 (3) 1818 (4) 1836

81. 3RY FYA @~ (VETRUTRR) ;
(1) Tarlt widaed T 9esE e 16 3T,
(2) e aﬁ?ﬂm o mTﬁ e 5' amﬁ
(3) wurE wfirdten QurTdtn Sewe 21, 78 erE),
(4) T TRETCHRAeA e HHEE 21, T8 S,
Select the incorrect statement - (Municipal Corporation) :
(1) Number of members of Standing Committee are 16.
(2) The quorum for meeting of Standing Committee is 5.

(3) The tenure of chairman of Standing Committee is 2V2 years.

(4) Currently the tenure of mayor of Mahanagar Palika is 2%z years.

82. WRAWEA 74 o1 WA TOKN HITATH FqOSSa Shegl Hio 2
(1) 20, 1993 (2) 19, 1993 3) 2414 1993 (4) Efede! TR
When the 74™ Constitutional Amendment Act was implemented in India ?

() 20 April, 1993 (2) 1June 1993  (3) 24 April, 1993 (4) Noneof the above
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83. e o : (@ w1 durEE Hue)
ap g

(a) 107 () Tufm

(b) 200 M9 (i) SrTE

{(c} 400 T3 (i) HTET

(d) 500 Fg= (iv) uH

(v) wrdfzw
ot Tt

(@ (b) () (d)
1 (v @i () ()
2) (v) (@) (v) (i)
@) () (v) (W) (i)
4 v (@) @) 3

Match the pairs - (Organisation of Panchayat in Mourya Period) :

‘A B
(a) 10 Villages (i)  Sthaniya
(b) 200 Villages (i) Dronmukh
(c) 400 Villages (i) Sangrahan
{d) 500 Families (iv) Gram

(v} Kharvtik
Answer options :
@ ® © (@
M) (v 6 6@ )
@ (v (@ (v i)
@ @) ) @) W)
@ v G @) )

84, TRUNGS=H YATMTOT S3hATHET TVl Tl & T 95 gee

mn 1/2 2 1/3 3) 1/10 4) 1/4

The quorum for General Meetings of Municipal Council __ of total number of
members.

1 1/2 @) 1/3 3} 1/10 4) 1/4

HEAT HEHE AR/ SPACE FOR ROUGH WORK
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85,  TIO] Tenfeh TOe e (T) WO T Aty waift sifefe forsmaren st g
AT IS T ehd AR 7
(a) AHSITI™ (b)  SFeau U1 =T
(c) Tamar= ot () @t
it
(1) e (a) 3T (b) (2) SIOYH! PIORIG TE (3)  FH (o) (4) W (d)

Panchayats can’t implement schemes for economic development and social justice related to
which of the following matters ?

(a) fisheries (b) fuel and fodder
(c) drinking water (d) khadi
Answer options :

(1) Only (a) and (b) (2) None of the above (3) Only (c) (4) Only (d)

86. TR TAMHGARE ____ FieA Sfuehi-gem A,
(1) HER = 39 e
(2) T A Yoo STiusia
(3) TErE AEEEE Ao stfusrrds
(4) SIS TR
Disputes between two States falls under the ]ufisdiction of
(1) High Court of any State
(2)  Original Jurisdiction of Supreme Court
(3) Appellate Jurisdiction of Supreme Court

(4) None of the above
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P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

ETZ 40 A
87. M WhAIA= 3HIN S oM.
e | T Hehtaar
(a) @&HR TS (i) YRATS T U Sy 97w
(b) ot =R (i) e Feeidte Hiiner gy
(c) A s (iil) ©BH YO TEU ARG <UF faumrdE i
RIUEE T
(dy fava SmpE faem (iv) e T9 Afufan siqodsraoiaE iy
et IuY
@ (b)) () (d)
() @ Gy @v) (i)
) () (v) (1) (i)
() @) @G (@) (iv)
(4) (i) (v) (D) (1)

Match the following regarding judicial activism :

Name of the Case

(a) Laksmi Kant Pandey (i)

(b)  Vineet Narain (ii)
{¢) Common Cause (iii)
(d) Vishwa Jagriti Mission (iv)

Answer options :

(@ (b) (¢ (d)
M ® @ dv) (i)
(2) @) (v) @) ()
(3) () @ @) ()
4) (i) (v) () (D)

Judicial Activism

Revamping the system of blood banks
in the country

Frohibition of ragging in educational
institutions

Guidelines regarding adoption of
minor children by foreigners

Guidelines for enforcement of rule of
Law

HEAT HWEEES AT/ SPACE FOR ROUGH WORK
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TER! S GaTE =raeATE e BuH fEw e IF SR A8 S 6 WRaE AR et
amfor -

(@) mmwﬁawmaﬁ%aﬁawﬁwmﬁwaﬁw&ﬂm
ferar

(b) wﬁwawmaﬁﬁﬁwwmwaﬁaﬁaﬁmﬁm
() Wgwien W faem wwfed o,

et SR faur/ faum ateT oea ?

(1) ¥ () (2) T (b) (3) FH (o) (4) =t wd

A person shall not be qualified for appointment as a Judge of the Supreme Court unless he is
a citizen of India and :

{a) has been for at least Five years a Judge of a High Court or of two or more such Courts
in succession ; or

(b) has been for at least ten years an advocate of a High Court or of two or more such
courts in succession; or

(c) 1is, in the opinion of the President, a distinguished jurist.

Which of the statements given above is/are correct ?

(1) (a) only {2) (b)only (3) {(¢)only (4) All of the above

HoAT HRTHL /SPACE FOR ROUGH WORK
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89. WEI AAT@AreA] HMideh HE=A FTHTH e oIl

DT TR
(a) 129 (i) EHIREA AT
(b) 131 (il) ~TEHSHN SAHEED W] R
(€ 136 (i) AT FeTTaE AT
(d) 143 (iv) IR Heted e G wWEE
it I

@ () (© (@
O 0 @ @ )
@ G i) O G
@) @) 0 ) G
@ ) @ v @)

Match the following regarding jurisdiction of the Supreme Court :

Article Provision
(a) 129 (i)  Advisory Jurisdiction
b) 131 ii)  Power to punish for contempt of Court
|3 P
(c) 136 (iii) Jurisdiction to decide inter-governmental
disputes
(d) 143 (iv) Special leave to appeal to Supreme Court

Answer options :
{ay (b)) () (d
) @) (W) (@) (iv)
(2) (@) @) @ v)
) @) @ vy (i)

) @) (i) {iv) @
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90. WHEIE! YR T = FIUA HTEER, AT Haie e T =1 oy STfHehn

s oA e % e ?
(1) &= 21 (2) TR 30
(3)  FITHT 226 (4) aﬂﬁﬁmw

Under which of the following Article of the Constitution of India the Supreme Court has
been designated as guardian of fundamental Rights of the citizen ?

(1)  Article 21 (2)  Article 30

(3) Article 226 {4) None of the above

91. we faur faare = :
(a) TRe st Aer Sfige faginy) wrifasmm ofr ST <o a6 diver gEron F30.
(b) U Tfgen HT A FHHAT TIYLEST F.
(c) e A Hieeen IR 3 RO s wire sft Hheed 3.
FoYs! HIOR /A fFaE/ 1 StET /T2
(1) @3amME) 2 GIAmE @) @A (4 e
Consider the following statements :

(a) The Kishori Shakti Yojana aims at improving the nutritional and health status of women
and their self development.

{b) The Rashtriya Mahila Kosh provides Large amount credit.

(c) Swawlamban Scheme provides training and skills to women in traditional and
non-traditional trades.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b) and {c) {3) (a) and (c) (4)  All of the above
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92, WAoo fayr fa=md =1 :

(@)
(b)
()

2009-10 T HERT=TE1 941 &5 f9F™ ¢ 9.6% 2l
2010-11 T WEWI (AT T ST U1 S9m=1 At 61% 8.
2012-13 H¥A FERTET=AT TE ToAiaid SeTATd Ji4ehTd &3y a1 22% o,

T F/FE s e ST AR e,

(1)

(a) 3T (0) (2)  (a) AT (b) (3) (b} 3 (c) (4) 0o ud

Consider the following statements :

(a)
(b)

()

[n 2009-10, the rale of development of service sector in Maharashtra was 9.6%
In 2010-11, the share of service sector is 61% in Maharashtra State Gross Domestic
Product.

In 2012-13, the share of Building construction sector was 22% in the Maharashtra state
Gross Domestic Producl.

Which of the statement/s given above is/are correct ?

(1)

(a) and {c) (2) (a) and (b) (3} (b) and (¢) (4)  All of the above

93, THIURET TN 2005-06 T 2010-11 A1 FIB@ SIElk [ed@ qie e HAld HH! B ?

(1

far (2) S W (3) 3N (4) ufy=m 9T

In which state per capita net domestic product recorded lowest during 2005-06 to 2010-11 ?

)

Bihar (2) Uttar Pradesh (3} Orrisa (4) Wesl -Bengal

94, WG fFYM foard =10

(a)
(b)
(©)

R FEiae wfwn € foei st = AVETes 159 3%,

TR ST SN 5 3 HE AL

TRATTS 2T e TSt T SR 2.

Tt Bod /@ faum/ faum Jer a1/ o1 ?

(1)

(a) ST (b) (2)  (b) 3 (c) (3} HH (0) (4) HH ()

Consider the following statements :

()
(b)
(c)

The planning process in India suffered from the absence of financial strategy.
The structural retrogression was also accompanied by low rate of industrial growth.

The political philosophy of economic planning in India has been right.

Which of the statement/s given above is/are correct ?

(1)

(a) and {b) (2) (b) and (c) (3)  Only (¢) (4) Only (a)

o] HIAEIS 9/ SPACT FOR ROUGH WORK '
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95. WHSIH! BV HRAE FEHET fEFr HoaE FROT AR ?

(1) ST AafiEs daee
(2) SR IO HAR
(3) I =Tt TS
(

4) fowmEmEt aeE weoa sfor aed

Which of the following is not the reason of acceptance of planning in India ?
(1) Inadequate natural resources

(2) Limitations of Market mechanism
(3
(

4)  Resource mobilisation and allocation for development

S

Need for social justice

96. 1993-94 ¥ 2009-10 AT HIEA HI &FA IR FRFHL Jorrms gem o] a6 Aeaa 2
(1) ¥t (2) SIaEm (3) @A (4) SR

Which sector has registered faster growth during (1993-94 to 2009-10) in employment
Generation ?

(1)  Agriculture (2)  Construction  (3) Mining (4) Trade

97. WeS fauH faeme =1
(a) WEEEE Wi s o we i e fEee 4.
(b) i FrasE v wel fawmmeNE THd.
() uRfers Frarsm gRfve somde i wtoamEt .
FhSTeRt IR/ IO Faur, foum sTae oS,/ o1ed ?
(1) (o) o (b) (2) ®F (b) 3) T (a) (4) (b) 3 ()
Consider of the following statements :
(a) Initially Regional planning meant only natural resource planning
(b) Regional planning is for only urban development
{c) Regional planning is for reducing regional disparities
Which of the following statement/s given above is/are incorrect ?

(1) (a) and (b) (2)  Only (b) (3) Only (a) (4) (b) and ()
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98. TSN TFAEHH (2007-12) A= T WA FIU &F S0 E 2

(1) el (2) Swgh (3) HrETeeR T4 (4) T foeRr

In the actual expenditure of eleventh plan {2007-12) which sector was the leading sector ?

(1)  Energy {2) lransport (3) Social services (4) Rural development

99, Woe faum fa=mmE v

(a) TERTEIE WS gHT e SO eIl STl oe A1 HROT gt $ A
AT ferm welt S gd Y@ Sd gl

(b) IR USPTR TH AT 70 HeRTEe USTTR BH1 1S He5 1965 HIel WAk qeie
TRTEeE O A AR,

(c) 1990 "2l Ui, gHt AT Feeaes faRmamst Seo o,

qhFIHt Foo/ 7 faum,/faum ate ae/a?

(1) e (a) ST (b) (2) T (b) STV (c)

(3) W (a) A (0) 4) = sfEoe de faum.

Consider the [ollowing slatements :

(a) The long term sustainability of the Employment Guarantee Scheme of Maharashtra
was partly due to the fact that half of the resources for the EGS budget were provided
by the urban population.

(b) The EGS as a public emplovment guarantee scheme has its origin in the Page Scheme
piloted in 1965.

(¢) In 1990 EGS was linked to horticulture development.
Which of the above statement!/s is/are correct ?
(1) {(a) and (b) onlvy (2) (b) and (c) only

(3) (a) and (¢) onlv (4)  All the three mentioned above
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T faur faem =10 -

(a) &g FESETET geard SO TR 81 Ifeen 391 e,

(b) T T st e SeRfas Swidmed Ao,

(c) YRaH &3 Frirsr= geam 1976 TR He.

TG FHI/ RO Faem/ faa Se o1,/ 3me ?

(1) (a) T (b) @ (b) 3 () @) (@) () (4) =
Consider the following statements :

{a) USA is the first country who started the Regional planning.

(b) The seed of national planning is rooted in the Bolshevik Revolution of Russia.

{c) India started its regional planning from 1976.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and (c) {3) f(a) and {(c) (4) All of the above

-00o0-
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Il — (= 1 967 T&....)

®) wegfaned fafse Fooa fafie Srie =9 ®0 (TF %) F09,  genfaseaiaied Iavaiaeat a1 s
FITETE & I Head @ Hd FOA T FS I, I WS TEG I WERK AR WA
SR} e aiEime Sronr g wfody FvaEeay tatae-82 ! Ante SgEiian FRER HAK
U 9 ) K] FHG U U FRERT T/ fhal T00 TF g9 THH=A1 ES=A1 (Me) A 2.

(9) T yrrafrHaE A ffs Fo0 J YUt SHSTNE 8 TETIRE T aiEt TR aETet e
A WA A, AT AT TETET AUATgE! SHEN AT SRSl WNT-1 AHARHS

TaoraT w07 TEvaE TR
AT U9
WH. 201, HATH AE T2 FHIOARE! IO Tor: T i 7
(1) T TaE Jd (2) Trag fommerR
@) T aEEET 0 @  TraEEE ThEe

B WA A I (3) T TR O o R, e O v TWO(3)"" e, anaa

WA U . 201 FHe IR (3)" ® Td@ T s S A Sl savas
W. &. 201 @ ) . O)

3TN TEA Wi TR Yols SRAE] QU STShE 81 Riel Sl Jiaeean Santhale

M ™1 FHFHHEENT Hafod ades quiT Bmifad HET IEaEl.  hiar had Siedl S
TN FoRTE, U o v 99 99 T4
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